ABx AUV R our IN GROSS  HDCP NET
B B X A 40 42 | 82 10.00 72.0
el wH F 00000 39, 45 84 12.0 72.0
ML BAR [E 42| 41 83 9.0 /4.0
Ay =H = 38 41 19 5.0 74.0
bii JKEF FA 39 42 81, 7.0 74.0
64 UA & 43 44/ | 87 12.0 75.0
iz KEF #F 39 41 80 5.0 75.0
8L FRAA Bl 40 43 83 8.0 /5.0
O IUA F=F 47 M 88 12.0/ 76.0
10652 Bl B&gr 40| 39 79 3.0 76.0
1M |5 IES 41 38 79 2.0 77.0
1260 28  FE 41| 45 86 9.0 77.0
136 #HE EZ 145 86 9.0 77.0
144 HIE K= 42| 47 89 12.0/ 77.0
156 XS Ez 45| 41 86 8.0 78.0




A#%F BYZR ouT IN GROSS  HDCP NET

' B ZEH {EF 43| 42 85/ 15.0] 70.0
HEER BA (B 42| 45 87 17.0 70.0
I FHiE EAX 44| 42 86 14.0 72.0
M H 7£ 48| 45 93, 20.0 73.0
bii BAR R 44| 44 88 15.0 73.0
6L 428 43 48 901/ 17.0 74.0
I 5 gk 46 44 90 15.0 75.0
8L tTH {H5Ek 48 47 95 20.0 75.0
O RIEH #M<Z 51 511 102 27.00 75.0
1062 /MNE %IZHil 46 49 95 20.0 75.0
116 ERK HE 48 52 100 24.0 76.0
1261 /MERFH BT 4755 102 26.0 76.0
13 /g KL 53 47 |100| 23.0 77.0
144 TERAR M 46| 46 92 15.0 /7.0
156 & =4 45| 45 90| 13.0 77.0




A LTs—R
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GROSS
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B2 B = : 47740/ 87 15.0 72.0
EER HA R 39036 75 2.0/ 73.0
L = 42 38 80 6.0 74.0
M =8 E=RF 44 46 90 15.0 75.0
b{sL B #AF 42| 39 81 5.0/ 76.0
6fif HRIUE BF 44| 41 85 0.0 76.0
6L RS g 43) 41 84 8.0 76.0
8 HEMl = 46| 44 90, 14.0 76.0
OfiL & R —F 52| 45 97 19.0 78.0
1043z 52 52 1104 26.0 78.0
1142 Je)I 40| 46 86, 7.0 79.0
1241 44| 42 86 6.0 80.0
13451 45| 40 85 4.0 81.0




